HENEFY4

(RnELY - #EENEFY)

F M ZE( )
() BX4X25 (7) 55+80+45
2 77+3.9+6.| 8) 8X|25X40
3) 8X88X 125 @) B2X25X4
4) 54+46+85 (10) 54X8X | 25
(5) 25XgX4 (1) 68+6.2+3.8
6) 38+69+31 (12) 8.5+45+1.5
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HENEFY4

(RnELY - #EENEFY)

(1) BX4X25
= 5X(4X25)
= 5X 100
= 500

@) 77+3.9+6. |
= 77+(3.9+6.1)
= 77+10
= 87

3) 8X88X 125
= (8X125)X88
= |000X88

= 88000

@) 54+46+85
= (54+46)+85
— 100+85

= 185

(5) 25XgX4
= (25%X4)X9
= 100X9

= 900

6) 38+69+3
— 38+(69+31)
= 38+100
= 138

& ( )

(1) 55+80+45
= (55+45)+80
= 100+80

= 180

8 8X125X40
= (8X125)X40
= | 000X40

= 40000

@) H2X25X4
= 52X (4X25)
= 52X 100
= 5200

(10) B4 X8X |25
= 54X (8% |25)
= 54X 1000
= 54000

(1) 68+6.2+3.8
= 68+(6.2+3.8)
= 68+10
=78

(12) 8.5+45+1.5
= (8.5+1.5)+45
= | 0+45
= 55
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